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fn2[a_,b_,c_]:=Plot[ax"2+bx+c,{x,-b/2a-2,-b/2a+2}] ’
B "I A= ZRAT 2
fn2[1,2,1] '
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il 2: MEERT 5
en[x_,y_,r_]:=ParametricPlot [{r*Cos[0]+x, r*Sin[0]
+y},{60,0,27},AspectRatio—Automatic,PlotRange—A11]

Bl 2: RFIA=FZRAT 2
Show[{en[0,0,1],en[1,-1,2]}] ’
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il 3: y =sinz DI 77
/Remove[“(}lobal‘*"]; \

en=Graphics [{GrayLevel[0.5],Circle[{0,0},1]1}];
g1=Plot[Sin[x],{x,0,27},PlotStyle—
{GrayLevel[0.5]},DisplayFunction— Identityl;
g2[q_1:=Plot[Sin[x],{x,-0.001,q},PlotStyle—
{Thickness[0.01] ,RGBColor[0,1,0]},DisplayFunction— Identityl;
t1={};
ten1:=Graphics [{PointSize[0.03] ,RGBColor[1,0,0] ,Map[Point,t1]}];
t2={};
ten2:=Graphics[{PointSize[0.03],RGBColor[1,0,0],Map[Point,t2]1}]1;
sen[q_]=Graphics [{Thickness[0.007],
RGBColor [0,0,1],Line[{{0,0},{Cos[q],Sin[ql},{q,Sin[q]}}]1}];
Table[
t1=Append[t1,{Cos[q]l,Sinlql}];
t2=Append[t2,{q,Sin[q]}];
Show[gl,g2[ql,en,sen(q],tenl,ten2,AspectRatio— Automatic,
PlotRange—{-1.2,1.2},Ticks—{{90° ,180° ,270° ,360° }, Automatic},
DisplayFunction— $DisplayFunction],{q,0° ,360° ,30° }];
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Bl 4: (z+1)" DR
Needs ["GUIKit‘"]; \

ref=GUIRun[Widget ["Panel",{
{Widget ["Label",{"text"->"n="}],

Widget ["TextField",{"text"—"5","columns" —3,"editable" —False},

Name — "textField"],Widget ["Slider",{"value" —5,BindEvent ["change",
Script [{SetPropertyValue [{"textField","text"},
ToString[PropertyValue [{"slider","value"}], InputForm]l],
sliderChanged[1}11},

Name->"slider"]},

Widget ["ScrollPane",{
"viewportView" —Widget ["TextArea",{

"fext" — " Mrows"— 10,
"columns" —40,"editable" —False},Name->"textArea"]}],
Script[

sliderChanged[]:=Block[{n,x,y},
n=ToExpression[PropertyValue[{"slider","value"}1];
SetPropertyValue [{"textArea", "text"},
ToString [Expand [(x+1)"n], InputForm, PageWidth—
ToExpression[PropertyValue [{"textArea","columns"}]]
1135
sliderChanged[];]
1;
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